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    INSTRUCTIONS TO CANDIDATE 

 
 

Read the following instructions carefully before you begin to attempt the questions. 
 

(1) This booklet contains 100 questions in all comprising the following three parts.  

• Part-(I)   : General Awareness     (40 Questions) 

• Part-(II)  : Mathematics      (30 Questions) 

• Part-(III) : General Intelligence and Reasoning   (30 Questions) 

(2) All the questions are compulsory and carry equal marks. 

(3) Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages and 

find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately. 

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.  

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll 

number, Test name/Id and name of the examination on the Answer-Sheet carefully before you actually start attempting 

the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These instructions must 

be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark. 

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant 

question number by pencil or Black/Blue ball pen only. 

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different 

from the information given in the application form, the candidature of such candidate will be treated as cancelled. 

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.  

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be 

deemed fit. 

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not 

spend too much time on any question. 

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates 

are advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in 

their own interest. Failing to comply with this provision will be considered as using unfair means in the examination and 

action will be taken against them including cancellation of their candidature. 

(12) No rough work is to be done on the Answer-Sheet. 

(13) No candidate can leave the examination hall before completion of the exam. 
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General Awareness 
 Q.1  Which one of the following represents the inner planets? 

 (A) Planets between the Sun and the belt of asteroids  

 (B) Planets between the Sun and the Earth  

 (C) Planets without satellite  

 (D) Planets in gaseous state  

 

Q.2  World Human Rights Day is observed on – 

 (A) 9 December  (B) 10 December  

 (C) 11 December  (D) 14 December  

 

Q.3 The headquarters of World Trade Organization is located 

in- 

 (A) Washington (B) Paris  (C) Vienna (D) Geneva  

 

Q.4  In India, income tax is levied by- 

 (A) Union Government  (B) State Government  

 (C) Ministry of Finance  (D) RBI  

 

Q.5 The International Finance Corporation was established 

in_____. 

 (A) 1956  (B) 1960  (C) 1972 (D) 1985  

 

Q.6  Who was the Prime Minister of India when nationalization 

of banks took place in 1969? 

 (A) Morarji Desai  (B) Lal Bahadur Shastri 

 (C) Jawaharlal Nehru  (D) Indira Gandhi  

 

Q.7  When pH of rainwater drops below 5.6 it is- 

 (A) Acidic   (B) Basic  

 (C) Neutral   (D) None of these  

 

Q.8  Where is the Vivekananda Rock Memorial situated? 

 (A) Thiruvananthapuram  (B) Kanyakumari  

 (C) Nagercoil   (D) Bhubaneswar  

 

Q.9 Who was the founder of Prarthana Samaj? 

 (A) Raja Rammohan Roy  (B) Atmaram Pandurang 

 (C) Dayananda Saraswati  (D) Jayaprakash Narayan  

 

Q.10 Shivaram Wildlife Sanctuary is located in---------. 

 (A) Karnataka  (B) Telangana  

 (C) Tamil Nadu  (D) Kerala  

 

Q.11 The currency of Japan is- 

 (A) Rial  (B) Yuan  (C) Yen  (D) Rupiyah  

 

Q.12 ‘Triton‘ is the largest moon of which planet? 

 (A) Uranus  (B) Jupiter  (C) Neptune  (D) Saturn  

 

Q.13 Which one of the following are recorded first by the 

 Seismograph? 

 (A) P-waves   (B) S-waves (C) L-waves  (D) R-waves 

 

Q.14 Which of the following gases is used in the manufacturing 

of plastic? 

 (A) Methane  (B) Helium  (C) Ethylene (D) Butane  

 

Q.15 Camera is an optical instrument that uses-   

 (A) Convex lens  (B) Concave lens  

 (C) Cylindrical lens  (D) None of these  

 

Q.16 Who is known as the Father of Indian Railway? 

 (A) Lord Canning  (B) Lord Ripon  

 (C) Lord Curzon  (D) Lord Dalhousie  

 

Q.17 Who is the Union Minister for Road Transport and

 Highways? 

 (A) Nitin Gadkari (B) Rajinder Pal Singh 

 (C) Tushar A Chaudhary (D) Sarve Satyanarayana 

 

Q.18  What is the judicial capital of Nagaland? 

 (A) Dispur  (B) Silchar  

 (C) Guwahati  (D) Dibrugarh 

 

Q.19  Where is the wheel and axle plant of Indian Railways? 

 (A) Bangalore   (B) Chittaranjan  

 (C) Chapra   (D) Madhepura  

 

Q.20  Where did India’s first metro rail start? 

 (A) Mumbai  (B) Kolkata   

 (C) Bangalore   (D) Pune  

 

Q.21  Which Sufi Silsila had got much popularity in India? 

 (A) Chisti   (B) Suhrawardi  

 (C) Firdausi   (D) Naqshbandi  

 

Q.22  Which one of the following is not a monetary policy 

 instrument of RBI to control money supply in the market? 

 (A) CRR   (B) SLR  

 (C) Repo Rate   (D) None of the above 

 

Q.23  Match the following and choose correct option. State       

Folk dance 

 (a) Andhra Pradesh 1. Dumhal 

 (b) Chattisgarh            2. Kolattam 

 (c) Kashmir                  3. Kalbelia 

 (d) Rajasthan                 4. Panthi 

 (A) 1c, 2a, 3d, 4b  (B) 1d, 2b, 3c, 4a  

 (C) 1b, 2d, 3a, 4c  (D) 1c, 2b, 3d, 4a  

 

Q.24  Which of the following tomb is located outside of the India? 

 (A) Humayun  (B) Aurangzeb 

 (C) Jahandar Shah (D) Jahangir 

 

Q.25   Which drug is used as a Thyroid Hormone? 

 (A) Metformin  (B) Ketoconazole 

 (C) Promethazine (D) Liothyronine 

 

Q.26 Who is the founding member of Kimberley Process 

Certification Scheme (KPCS)?  

 (A) USA (B) Italy (C) Australia (D) India 

 

Q.27 Which is the first Hindi newspaper of India? 

 (A) Udaan  (B) Azad Vichaar 

 (C) Udant Martand (D) Vichaar Vyakti 

 

Q.28  On the last of the allotted days at the appointed time the 

speaker puts every question necessary to dispose of all the 

out standing Matters in connection with demand for grants, 

this is known as .......... 

 (A) Guillotine    (B) Censure Motion  

 (C) Adjournment Motion  (D) Privilage Motion  

 

Q.29  The Blue Cross is related to which sport?  

 (A) Boxing  (B) Long Jump 

 (C) Shooting  (D) Martial Arts 
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Q.30 DNA stands for.................. 

 (A) Di Nucleic Acid (B) Deoxy Nucleic Acid 

 (C) Di ribonucleic Acid (D) Deoxy ribonucleic Acid 

 

Q.31  Who laid the foundation stone for NH projects in Karnataka 

recently?  

 (A) Narendra Modi (B) Rajnath Singh 

 (C) Prakash Javadekar (D) Nitin Gadkari 

 

Q.32  Who has inked a MoU with Estonian academy to enlighten 

the state people on the e-governance models prevailing in 

the world?  

 (A) Assam  (B) Telangana 

 (c) Odisha  (D) Nagaland 

 

Q.33  Who is the Governor of Meghalaya? 

 (A) Ganga Prasad (B) Banwarilal Purohit 

 (C) Tathagata Roy (D) Kasrinath Tripathi 

 

Q.34  Name the former Chairman of the Securities and Exchange 

Board of India (SEBI), who was bestowed the honour at the 

2018 gfiles Governance Awards? 

 (A) U. K. Sinha  (B) D R. Mehta 

 (C) C. B. Bhave (D) M. Damodaran 

 

Q.35  Which country became first in the world to recognise 

'orphanage trafficking' as a form of modern slavery? 

 (A) Australia (B) India (C) Denmark (D) Iceland 

 

Q.36  Name the member countries of NAFTA?  

 (A) USA, Mexico and Canada (B) USA, India and China 

 (C) USA, Italy and Canada (D) India, China and Japan 

 

Q.37  Who became the first Indian to be honoured with the Blue 

Cross by the International Shooting Sport Federation 

(ISSF) for his contribution to the sport of shooting? 

 (A) Jeetu Rai   

 (B) Abhinav Bindra 

 (C) Rajyavardhan Singh Rathore 

 (D) Gagan Narang 

 

Q.38 Which chronology is correct about elected President of 

India? 

 (1) Sri N. Sanjeeva Raddy (2) Sri. V. V Giri 

 (3) Dr. Fakhruddin Ali Ahmed (4) Dr. Zakir Hussain 

 (A) 1,2,3,4 (B) 4,2,3,1  (C) 4,2,1,3 (D) 3,1,4,2  

 

Q.39   Who Invented LCD Projector? 

 (A) Gene Dolgoff (B) Brendan Eich 

 (C) Douglas Engelbart (D) Federico Faggin 

 

Q.40  Where did the next session of International Kimberley 

Process will be held?  

 (A) USA  (B) Italy 

 (C) Australia  (D) India 

Mathematics 

Q.41 If first term of an arithmetic series is 21 and the difference 
between two consecutive terms is -4. Find the 12th term? 

 (A) -25  (B) -26 
 (C) -21  (D) None of these  
 
Q.42 The measures of the four angles of a quadrilateral are in 

the ratio 4:5:7:8. What is the difference between the 
measure of second highest and lowest angle? 

  

 (A) 480  (B) 450 
 (C) 300  (D) None of these 
 
Q.43 If P:Q = 1:2, Q:R = 3:4, R:S = 6:9 and S:T = 12:16, then 

find P:Q:R:S:T.  
 (A) 4:6:9:12:15  (B) 2:3:6:8:12  
 (C) 3:6:8:12:16  (D) None of these 
 
Q.44 In an examination, 43% of the students failed in History, 

24% failed in Geography and 13% failed in both subjects. 
Find the percentage of students who passed in both the 
subjects? 

 (A) 54%  (B) 48% 
 (C) 52%   (D) None of these 
 
Q.45 A starts a business with ` 4000. B joins him after three 

 months with ` 8000. C puts a sum of ` 18000 in the 

business for 3 months only. At the end of the year, the 
business gave a total profit of ` 6293. Find the profit share 

of C? 
 (A) `1736  (B) `.2387  

 (C) `1963  (D) None of these 

 

Direction Q.(46-49) Read the following bar graph carefully and 
 answer the questions given below. 

 Bar graph shows number of hats sold by two stores P and 
L during six months. 

  
Q.46 The total number of hats sold in may by both stores 

together is approximately what percent more than the total 
number of hats sold in march by both stores together? 

 (A) 24% (B) 22% (C) 20% (D) 26% 
 
Q.47 What is the average number of hats sold by store in all 

Given month together? 

 (A) 666.66̅ (B) 599.33̅       (C) 633.33̅ (D) 683.33̅ 
 
Q.48 What is the ratio between the total number of hats sold by 

store ‘P’ in February and April together and the total 
number of hats sold by store ‘L’ in June and January 
together?  

 (A) 6:7                (B) 11:14                    
 (C) 25:28               (D) None of these  
 
Q.49 What is the difference between the total number of hats 

sold by company ‘L’ in all given months together and the 
total number of hats sold by company ‘P’ in all given 
months together? 

 (A) 150              (B) 50             
  (C) None of these             (D) 200 
 
Q.50 A boy goes to school at a speed of 6 kmph and return to 

the village at a speed of 4 kmph. If he takes 15 hours in all, 
what is the distance between school and village? 

 (A) 36km.  (B) 24km. 
 (C) None of these (D) 30km. 
 
Q.51 A man swims downstream 36km and upstream 24km. 

taking 4 hours each time. What is the velocity of current? 
 (A) 2 kmph  (B) 1.5 kmph              
 (C) 3 kmph  (D) None of these 
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Q.52 Find the surface area of a sphere of diameter 28 cm?  
 (A) 2474 cm.2   (B) 2532cm.2                    
 (C) 2396 cm.2   (D) None of these 
 
Q.53 A man can do a work alone in 12 days. With the help of a 

day he can do the same work in 9 days. If they get `1244 

for that work, what is the share of that boy? 
 (A) `411          (B) `423                       

 (C) `396  (D) None of these  

 
Q.54 In what proportion must sugar at `4.10 per kg. be mixed 

with sugar at `4.60 per kg., so that the mixture be worth 

4.25 per kg.?  
 (A) 7:4  (B) 6:5 
 (C) None of these (D) 8:3 
 
Q.55 Find the compound interest on `16750 in 2 years, the rate 

of interest being 4% for the first year and 8% for the second 
year? 

 (A) ` 2063.60  (B) ` 2084.8 

 (C) ` 2116.4   (D) None of these 

 
Q.56 A tradesman marks his goods at 24% above his cost price 

and allows purchasers a discount of 11
1

2
% for cash. What 

profit % does he make? 
 (A) 9.75%  (B) 9.84%  
 (C) 8.98%  (D) None of these 
 

Q.57 If tan2 - Sin2 = P, then find the value of P?  

 (A) Sin.tan  (B) Sin2.tan2 

 (C) cosec2 cot2 (D) cot cosec 
 
Q.58 What is the value of cot 2100? 

 (A) √3 (B) √3
−

 (C) 
−1

√3 
   (D) 

1

√3
 

 

Q.59 If √
1+cos 

2
 =Y then find the value of Y? 

 (A) 1  (B) cos  

 (C) sin


2
  (D) None of these 

 

Q.60 If x = 
𝑦2

𝑦−𝑥
 Then the value of x3+y3 is? 

 (A) 1  (B) xy  
 (C) o   (D) None of these 
 

Q.61 If  a = √2 + √3
3

 , then the value of a3+ 1/a3 is 

 (A) 1  (B) 4  
 (C) 2   (D) None of these 
 

Q.62 If 
𝑙

𝑚
  = 

1

𝑚
 - 

1

𝑙
 , then the value of l – l2 is? 

 (A) 
1

𝑚
  (B)  

−1

𝑚
  

 (C) m   (D) -m  
 
Q.63 Find the value of x. 11339 ÷ 23 + 11 × 27 - 172 – 377 ÷ 

13 =x 
 (A) 485   (B) 472 
 (C) 465    (D) None of these 
 

Q.64 
(343)𝑎/3 × 72𝑎+1

49(𝑎−1) × 7𝑎  = ? 

 (A) 343a  (B) 49  
 (C) 49(a+1)  (D) None of these 
 
Q.65 (16)0.16 × (16)0.04 ×(2)0.2 is equal to :- 
 (A) 4  (B) 1/2  
 (C) None of these (D) 8 
 
Q.66 When simplified the product 

 (1-
1

3
) (1 −

1

4
) (1 −

1

5
) − − − (1 −

1

t
)  becomes.    

 (A) 
2

𝑡
  (B) 

1

𝑡
  

 (C) None of these (D) 
1

𝑡(𝑡+1)
 

 
Q.67 The least number more than 5000 which is divisible by 73. 
 (A) 5110.  (B) 5047  
 (C) 5057  (D) None of these 
 
Q.68 What is the slope of the line 3x+4y-16=0? 

 (A) 
−1

4
  (B) −3

4⁄   

 (C) None of these (D) 
3

4
 

 
Q.69 Find the number of sides of a regular polygon whose each 

internal angle is 1500 

 (A)10  (B)15 

 (C)12  (D) 9 
 
Q.70 The diameter of a toy wheel is 28 cm. What is the distance 

travelled by it in 14 revolutions? 
 (A) 12.32m  (B) 1248cm.  
 (C) None of these (D) 11.98m.a 

General Intelligence and Reasoning 

Direction Q.(71-74) Read following information carefully and 
 answer given question ? “P ÷ Q” means “P is wife of Q” 

 “P - Q” means “P is Husband of Q” 
 “P @ Q” means “P is sister of Q” 
 “P % Q” means “P is mother of Q” 
 “P * Q” means “P is father of Q” 
 “P + Q” means “P is son of Q” 
 “P © Q” means “P is daughter of Q” 
 “P $ Q” means “P is brother of Q” 
 
Q.71 K-L%O$P, T@R+M÷Q=U-V, S-G%K$L@M  
 How G related to P? 
 (A) Mother  (B) Daughter              
 (C) Daughter-in-law (D) None of these 
 
Q.72 T@R+M÷Q=U-V, S-G%K$L@M, K-L%O$P 
 How G related to Q? 
 (A) Mother  (B) Mother-in-law                
 (C) Daughter  (D) Daughter-in-law         
 
Q.73 I+H*L%N © Y, X ÷ D*F@G ÷ H+J-K  
 How H related to X? 
 (A) Paternal Grand Son  
 (B) Maternal Grand Son 
 (C) Son-in-law   
 (D) Cannot be determined      
 
Q.74 I+H*L%N © Y, X ÷ D*F@G ÷ H+J-K                    
 How G related to L?  
 (A) Paternal Grand daughter   
 (B) Maternal Grand daughter                     
 (C) Mother-in-law              
 (D)  Mother    
 
Direction Q.(75-76) Study the following information carefully to 

answer the question given below- 
 B © 5 L 8 M S # 9 @ 2 $ Y © R ^ P * W % X 5 N J S1 C 
 6 ^ Z 8 E 9 G 7 H 
 
Q.75 How many such symbols are there in the above 

arrangement which is immediately preceded by a number 
and followed by an alphabet? 

 (A) None (B) Two (C) Three (D) One     
 
Q.76 What is the position of “*” in the above arrangement? 
 (A) 17th from right end         (B) 15th from left end            
 (C) 7th to the left of N      (D) 5th to the right of of Y 
 
Direction Q.(77-79) Read following information carefully an 

 answer the following question. 
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 There are six person Shivam, Tilak, Urijit, Vivek, Wahid and 
Karan Who got different marks in the examination. Shivam 
got more marks than only Urijit and Karan. Tila got less 
marks than wahid, who did not get highest marks in the 
examination. The second higest person got 95 marks.   

 
Q.77 How many person got more marks than Urijit ? 
 (A) Three             (B) Two              
 (C) More than three (D) None of these 
 
Q.78 If Tilak got 80 marks which is the possible score of 

Shivam? 
 (A) 96   (B) 90            (C) 85 (D) 76 
 
Q.79 Who got lowest marks? 
 (A) Wahid              (B) Shivam           
 (C) Karan         (D) Cannot be determined  
 
Direction Q.(80-81) Study the following information given below

 and answer the question based on it. 
 (A) Data in statement I is sufficient to answer the 
 question while data in statement II are not required to

 answer. 
 (B) Data is statement II is sufficient to answer the

 question while data in statement I are not required to
 answer. 

 (C) Data in both statements I and II together are
 necessary to answer the question.   

 (D) Data in neither statement I nor II are sufficient to
 answer the question.  

 
Q.80 Six friend Prateek, Kashif, Ravi, Shivam, Tarun and Umang 

are having different heights. Who among the following is 
tallest person.  

 (I) Sohail is Taller than Prateek but shorter than Umang. 
Tarun is taller than Kashif but not the tallest. 

 (II) Sohail is only taller to Prateek. Kashif is taller to Umang 
and Sohail but not the tallest. 

 
Q.81 Total 15 students got rank from top to bottom. The one who 

got Ist rank is at top and the one who got 15th rank is at 
bottom. What is rank of Kavita from the top? 

 (I) Manav is 8th from top Three person are between Manav 
and Kavita. Atleast 5 person got worse rank than kavita. 

 (II) Geeta’s rank 3rd from bottom. Four person are between 
Geeta. and Manav Three person are between Manav and 
Kavita. 

 
Direction Q.(82-83) In the given question a relationship shows 

between different elements.  
 After the statement, four conclusions are given. You have 

to decide which of the following conclusion definitely follows 
the given statements.    

 (A) Only conclusion I follow                          
  (B) Only conclusion II follow 
 (C) Both conclusion follow                                
 (D) None follow  
 
Q.82 Statement : H < F < A > B > C, U < F > M > K  
 Conclusion : (I) A > F (II) F < C 
Q.83 Statement : H < F < A > B > C, U < F > M > K 
 Conclusion : (I) M < B (II) K < C 
 
Q.84 Find number of triangle in given figure? 

  
 (A) 38 (B) 39            (C) 44 (D) 46 
 
Q.85 From the given alternative words, select the word which 
 cannot be formed using letters of the given word? 

 TRADITIONAL 
 (A) ADDITION        (B) INDIA            
 (C) RATIO  (D) STRAIT 
 
Direction Q.(86-87) Choose the Venn diagram which best 

illustrates the three given classes in each of the following 
questions? 

 (A)        (B)            

 (C)     (D)  
 
Q.86 Diamond ring, ring ornament 
 
Q.87 Nose, eye, body 
 
Direction Q.(88-91) In the following question below are given, 

some statement followed by some conclusion taking the 
 given statement to be true even if they seem to be at 
variance from commonly known facts, read all conclusion 
and then decide which of the following conclusion logically 
follow the given statement. 

 (A) Only conclusion I follow      
 (B) Only conclusion II follow  
 (C) Both conclusion follow    
 (D) None follow 
 
Q.88 Statements: All P are S. All Q are R.  Some P are Q. 
 Conclusions: (I) Some P are R is a possibility 
 (II) Some S are not R. 
 
Q.89 Statements: No S is T. No T is U. All U are V. 
 Conclusions: (I) Some V are not T is a possibility. 
 (II) All S are U is a possibility.  
 
Q.90 Statements: Some G are H. Some H are not I. No I is J. 
 Conclusions: (I) Some G are not I.   
 (II) All J are G is a possibility.   
 
Q.91 Statements: Some K are L. No L is M. No M is N.  
 Conclusions: (I) Some M are not K is a possibility. 
 (II) 25% L is not M. 
 
Direction Q.(92-94) Study the following information carefully 

and answer the questions given below:  
 In a certain code language ‘election survey people’ is 

written as ‘fyo  fvo  fna’,  ‘biopic law member’ is written as ‘ 
fsa fra  fta’, ‘people law lead’ is written as ‘fla  fvo  fsa’, and 
‘review nation election’ is written as ‘fyo  fha  fja’. 

 
Q.92 What is the code of “Survey”? 
 (A) fna  (B) fyo  
 (C) fvo  (D) Cannot be determined 
Q.93 Give the word for code “fra”? 
 (A) Biopic  (B) Law  
 (C) Member  (D) Cannot be determined 
 
Q.94 What is code of “Lead election” ? 
 (A) fla fna (B) fta fna  (C) fvo fla (D) fla fyo 
 
Direction Q.(95-96) Study the following information carefully and 
 answer the questions which follow—  

 From point R, Arjun starts to walk in north direction and 
covers a distance of 5 meters then after he takes a right 
turn and covers a distance of 4 meters and finally takes a 
left turn and covers a distance of 5 meters and reaches at 
point Q. From point P, Pankaj starts to walk in south 
direction and covers a distance of 10 meters then he takes 
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a left turn and covers a distance of 16 meters and reaches 
at point Q.  

 
Q.95 In which direction is point P with respect to point R? 
 (A) South East  (B) North West  
 (C) North  (D) South 
 
Q.96 What is shortest distance between point P and R? 

 (A) 5√37 (B) 25  (C) 4√34 (D) 38 
 
Direction Q.(97-98) In the following questions select the odd word/ 

number pair from given alternatives. 
 
Q.97 (A) 483 (B) 609  (C) 576 (D) 548 
 
Q.98 (A) PLCV (B) DEMQ  (C) HGVF (D) JLTN 
 
Direction Q.(99-100) In the following questions select the related 

word / number from given alternatives. 
 
Q.99 JHVC : 43 :: KTMQ : ? 
 (A) 58  (B) 65 (C) 68  (D) 61   
 
Q.100 29 : 435 :: 36 : ? 
 (A) 495 (B) 540 (C) 580  (D) 525 
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General Awareness 
Ans.1(A) Out of the nine planets, mercury, Venus, earth and 
 mars are called as the inner planets as they lie  
 between the sun and the belt of asteroids the other 
 five planets are called the outer planets.  
 Alternatively, the first four are called Terrestrial. 
Ans.2(B) Human Rights Day is observed on 10 December. 
 International Anti-corruption Day- 9 December  
 UNICEF Day - 11 December National Energy Con
 servation Day - 14 December 
Ans.3(D) The World Trade Organization (WTO) - it is an  
 international organization which sets the rules for 
 global trade. This organization was set up in 1995. 
 its the headquarters is located in Geneva. 
Ans.4(A) In India, income tax is levied by Union Government. 
Ans.5(A) The International Finance Corporation is a member 
 of the World Bank Group and its headquarter is in 
 Washington DC, United States. It was established in 
 1956. 
Ans.6(D) The nationalization of banks in India took place in 
 1969 by Mrs. Indira Gandhi the then prime  
 miniter.14 banks were nationalized at that time.  
 These banks were mostly owned by businessmen 
 and even managed by them.  
Ans.7(A) When pH of rainwater drops below 5.6 it is acidic. 
Ans.8(B) Kanyakumari 
Ans.9(B) Atmaram Pandurang was the founder of Prarthana 
 Samaj. Raja Rammohan Roy   - Brahmo Samaj  
 Dayananda Saraswati  - Arya Samaj Jayaprakash 
 Narayan - Sarvodaya  movement 
Ans.10(B) Shivaram Wildlife Sanctuary is located in Telangna. 
Ans.11(C) The currency of Japan is Yen. 
Ans.12(C) ‘Triton‘ is the largest moon of Neptune planet. 
Ans.13(A) 
Ans.14(C) Ethylene gas is used in the manufacturing of plastic. 
Ans.15(A) Camera is an optical instrument that uses convex 
 lens. 
Ans.16(D) Lord Dalhousie is known as the Father of Indian 
 Railway. 
Ans.17(A) Nitin Gadkari 
Ans.18(C) Guwahati is the judicial capital of Nagaland. 
Ans.19(A) Bangalore 
Ans.20(B) Kolkata 
Ans.21(A) This was the Silsila which, with its spirit of equality 
 and brotherhood, won the hearts of the people of  
 the subcontinent. 
Ans.22(D) All the above are the monetary policy instrument of 
 RBI to control money supply in the market. 
Ans.23(A) 
Ans.24(D) Humayun's tomb is the tomb of the Mughal Emperor 
 Humayun in Delhi, India. Tomb of Aurangzeb is
 located in Aurangabad district in the Indian state of 
 Maharashtra. The tomb of Jahandar shah is also 
 humayan’s tomb in Delhi,India. The tomb of  
 Jahangir is located in Shahdara Bagh in Lahore  
 Pakistan, along the banks of the Ravi River. 
Ans.25(D) Liothyronine, also known as L-thyroxine, is a 
 manufactured form of the thyroid hormone, thyroine. 
 It is used to treat thyroid hormone deficiency 
 including the severe form known as myxoedema. It 
 may also be used to treat and prevent certain types 
 of thyroid tumors . 
Ans.26(D) India 
Ans.27(C) Udant Martand (The Rising Sun) was the first Hindi 
 language newspaper published in India. Started on 
 May 30, 1826, from Calcutta , the weekly news per 
 was published every Tuesday by Pt. Jugal Kishore 
 Shukla. 
Ans.28(A) On the last of the allotted days at the appointed time 
 the speaker puts every question necessary to  
 di pose of all the out standing Matters in connection 
 with demand for grants, this is known as Guillotine.  

Ans.29(C) The Blue Cross is related to Shooting. 
Ans.30(D) Deoxyribonucleic acid, a self-replicating material 
 which is present in nearly all living organisms as the 
 main constituent of chromosomes. It is the carrier of 
 genetic information. 
Ans.31(D) Nitin Gadkari laid the foundation stone for NH pr 
 jects in Karnataka recently. 
Ans.32(D) Nagaland has inked a MoU with Estonian academy 
 to enlighten the state people on the e-governance 
 models prevailing in the world. 
Ans.33(C) Tathagata Roy is the Governor of Meghalaya. 
Ans.34(B) D.R. Mehta the former Chairman of the Securities 
 and Exchange Board of India (SEBI), who was b 
 stowed the honour at the 2018 gfiles Governance 
 Awards. 
Ans.35(A) Australia became first in the world to recognise 'o 
 phanage trafficking' as a form of modern slavery. 
Ans.36(A) USA, Mexico and Canada 
Ans.37(B) Abhinav Bindra became the first Indian to be ho 
 oured with the Blue Cross by the International  
 Shooting Sport Federation (ISSF) for his contribtion 
 to the sport of shooting. 
Ans.38(B) Dr.Zakir Hussain, 
 Sri .V.V Giri 
  Dr.Fakhruddin Ali Ahmed , 
 Sri N. Sanjeeva Raddy, 
Ans.39(A) Dolgoff was an early developer of digital projection 
 and started thinking about LCD projectors in 1968. 
 He founded Projectavision, the world's first  
 dedicated digital projection company in 1988. He 
 has pulished several papers in 3-D imaging, optics, 
 holo raphy, and LCD video projection, and has more 
 than 65 patents granted worldwide with many others 
 pending. 
Ans.40(D) India 

Mathematics 

Ans.41(D) 12th term = 21+11×-4=21-44=-23 

Ans.42(B) Required difference = (7-4)×
360°

(4+5+7+8)
 

Ans.43(C) P:Q:R:S:T = 216:432:576:864:1152 

 = 3:6:8:12:16 

Ans.44(D)   

Ans.45(D) Ratio of their profits =A:B:C 

 = 4×12:  8×9 : 3×18 

 = 48: 72: 54 

 = 8 : 12:9 

 C’s profit share = 
6293

(8+12+9)
×9 

 = 117×9 =  ` 1953 

Ans.46(B) Required % = 
1650−1350

1350
 ×100 = 22.22% =22% 

Ans.47(C) Required average = 
(550+450+600+700+850+650

6
 

 =
3800

6
 = 633.33 

Ans.48(D) Required ratio = 
(450+700)

(650+750)
 = 

1150

1400
 = 

23

28
 

Ans.49(C) Required difference = L – P 

 = 3900 – 3800 = 100 

Ans.50(A) Required distance = 15 × 
6×4

10
 = 36 km. 

Ans.51(B) Downstream speed = 
34

4
 = 9 kmph 

 Upstream speed = 
24

4
 = 6 kmph 

 Speed of current = 
9−6

2
 = 

3

2
 = 1.5 kmph 

Ans.52(D) Surface area = 4r2 =4× 
22

7
×

28

2
×

28

2
 = 2464 Cm.2 

Ans.53(D) Boy can complete the work in [
12×9

12−9
] = 36 days. 

 Man : Boy = 
1

12
 : 

1

36
 = 3:1  

 Boy’s share = 
1244

4
 ×1 = ` 311 

Ans.54(C) 
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 Required ratio = 
7

3
 = 7:3 

Ans.55(A) C.I. = 16750 × 
104

100
 × 

108

100
 – 16750 

 =  ` 2063.6 

Ans.56(D) Profit % = 24 – 11.5 - 
24×11.5

100
 = 9.74% 

Ans.57(B) 
𝒔𝒊𝒏𝟐𝜽

𝒄𝒐𝒔𝟐𝜽
 – sin2𝜃 =P 

 sin2𝜃 (
1

𝑐𝑜𝑠2𝜃
− 1) = 𝑃 

 sin2𝜃. (𝑠𝑒𝑐2𝜃 − 1) =P 

 P = sin2𝜃  𝑡𝑎𝑛2𝜃 

Ans.58(A) cot 210° = cot(180+30°) 

 = cot30° = √3 

Ans.59(D) ∴ cos 𝜃 = 2 𝑐𝑜𝑠2 (
𝜃

2
) -1 

 ∴ 𝑦 =  √1+2𝑐𝑜𝑠2 (
𝜃

2
)−1

2
  

 y = 𝑐𝑜𝑠𝜃/2 
Ans.60(C) xy – x2 = y2 
 X2 + y2 – xy = 0 
 X3 + y3 = (x+y) (x2 +y2 – xy) 
 X3 + y3 = (x+y) × 0 
 X3 + y3 = 0 

Ans.61(B) a3 = (2+√3)  

 
1

𝑎3
 = 

1

2+√3
 × 

2−√3

(2−√3)
 = 2 - √3  

 ∴ a3 + 1/a3 = 2 + √3 +2 -√3 = 4 

Ans.62(C) 
𝑙

𝑚
 - 

1

𝑚
=  

−1

𝑙
 

  
(𝑙−1)

𝑚
 = 

−1

𝑙
  

  l2 – l = - m 
  l – l2 = m 
Ans.63(B)  493 + 297 – 289 – 29 = x 
  X= 472 

Ans.64(D)  
𝟕(𝟑×𝒂/𝟑)× 𝟕𝟐𝒂+𝟏

𝟕(𝟐𝒂−𝟐)×𝟕𝒂  = ? 

  
𝟕(𝒂+𝟐𝒂+𝟏)

𝟕(𝟐𝒂+𝒂−𝟐) = ? 

  7(3𝑎+1−3𝑎+2) = ? 
  73 = ? ⇒ ? = 343 
Ans.65(C)  (24) 0.16 × (24) 0.04 × (2) 0.2 
  2 0.64 × 2 0.16 × 2 0.2 
  2 (0.64+0.16+0.2) 
  21 = 2 

Ans.66(A)  (1- -
1

3
) (1- -

1

4
) (1- -

1

5
) ---- (1- -

1

(𝑡−1)
) (1- -

1

𝑡
) 

  
2

3
 × 

3

4
 × 

4

5
 ---- -

𝑡−2

𝑡−1
 × 

𝑡−1

𝑡
 = 

2

𝑡
  

Ans.67(D)  73) 5000 (68 
       438  
       620 
   584  
       36 
  Required number = 5000 + 73 - 36 = 5037 

Ans.68(B)  Slope = 
−3

  4
 

Ans.69(C)  180° × (
𝑛−2

𝑛
) = 150° 

  6n – 12 = 5n 
  N = 12 

Ans.70(A)  Circum ference of wheel=^̅𝐷 =
22

7
× 28 = 88𝑐𝑚. 

  Total distance travelled = 88 × 14= 1232 cm. 
 
 
 

General Intelligence and Reasoning 

Ans.(71-72) 

  
Ans.71(D)  
Ans.72(B) 
Ans.(73-74) 

  
Ans.73(C) 
Ans.74(D)   
Ans.75(B)  
Ans.76(D) 
Ans.(77-79) Vivek>Wahid>Tilak>Shivam>Urijit/Karan>Karan/Urijit 
Ans.77(C) 
Ans.78(D)  
Ans.79(D)  
Ans.80(C)  
Ans.81(A) 
Ans.82(A)  
Ans.83(D)  
Ans.84(C)  
Ans.85(D) Given word does not have “S” 
Ans.86(B) 
Ans.87(B)  
Ans.88(D) 

  
Ans.89(B) 

  
Ans.90(B) 

  
Ans.91(B) 

  
Ans.(92-94) 

  
Ans.92(A)  
Ans.93(D)  
Ans.94(D) 
Ans.(95-96) 

  
Ans.95(B)  
Ans.96(C)   
Ans.97(D) Except “D” all are divisible by 21. 
Ans.98(B) Only “B” contain vowel.  
Ans.99(D)  
Ans.100(B) 29 × 15 = 435 
 36 × 15 = 540 
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                                               INSTRUCTIONS TO CANDIDATE 
 

 

iz'uksa dks gy djus ls igys fuEufyf[kr funsZ'kksa dks /;ku ls i<+saA 

 

(1) bl iqfLrdk esa 100 ç'u gSa] tks fd dqy rhu Hkkxkas esa foHkkftr gSaA 
 Hkkx- (I)  : General Awareness        (40 iz'u) 
 Hkkx- (II)  : Mathematics        (30 iz'u) 
 Hkkx- (III) : General Intelligence and Reasoning     (30 iz'u) 
(2) lHkh ç'u vfuok;Z gSa rFkk lcds cjkcj vad gSaA 

(3) ç'uksa dks gy djuk çkjEHk djus ls igys vkidks bl iqfLrdk dh tkap djuh pkfg, vkSj ;g lqfuf'pr djuk pkfg, fd 

blesa lHkh i`"B mifLFkr gSa vkSj dksbZ ì"B de ;k cnyk gqvk ugha gSA vxj vkidks bl iqfLrdk esa dksbZ nks"k feyrk gS] rks 

vkidks rqjar bls cnyuk gksxkA 

(4) çR;sd ç'u esa udkjkRed vadu gksrk gS D;ksafd çR;sd xyr mÙkj ds fy, 1@3 vad dkV fn;k tk,xkA 

(5) vkidks fujh{kd }kjk mÙkj iqfLrdk vyx ls nh tk,xhA vkidks ç'uksa dks gy djuk çkjEHk djus ls igys viuk uke] jksy 

uacj] VsLV uke @vkbZMh vkSj@ijh{kk dk uke mÙkj&iqfLrdk ij lko/kkuhiwoZd iwjk djuk gksxkA vkidks mÙkj&iqfLrdk esa 

fu/kkZfjr LFkku ij viuk gLrk{kj Hkh djuk gksxkA bu funsZ'kksa dk iwjh rjg ls ikyu fd;k tkuk pkfg,] ftldks u djus ij 

vkidh mÙkj&iqfLrdk dk ewY;kadu ugha fd;k tk,xk vkSj vkidks ^'kwU;^ vad fn;k tk,xkA 

(6) mÙkj dsoy isafly ;k CySd@Cyw c‚y isu }kjk mÙkj& iqfLrdk çklafxd ç'u la[;k ds lEcaf/kr xksys dks iwjh rjg ls CySd 

djds fn[kk;k tkuk pkfg,A 

(7) OMR mÙkj iqfLrdk  dks ,d e'khu }kjk tkapk tk;sxkA ;fn fdlh fLFkfr esa miyC/k tkudkjh] vkosnu i= esa nh x;h 

tkudkjh ls vyx ik;h x;h] rks vkosnd dk vkosnu fujLr dj fn;k tk;sxkA 

(8) fujh{kd dh vuqefr feyus ds ckn gh dksbZ ijh{kk d{k NksM+ ldrk gSA 

(9) mijksä esa ls fdlh Hkh funsZ'k dk vuqikyu djus esa foQy mEehnokj dks mi;qä  dk;Zokgh@tqekZuk ds fy, mÙkjnk;h 

le>k tk ldrk gSA  

(10) ftruh tYnh gks lds mruh tYnh vkSj lko/kkuh ls ç'uksa dk mÙkj nsaA dqN loky dfBu gks ldrs gSa vkSj nwljs vklku gks 

ldrs gSaA fdlh Hkh ç'u ij T;knk le; ugha fcrk,aA 

(11)  eksckby Qksu vkSj ok;jysl lapkj midj.k] ijh{kk d{k@dejs esa iwjh rjg ls çfrcaf/kr gSaA dksbZ Hkh vkosnd vius eksckby 

dk ;k fdlh ok;jysl lapkj midj.k dks can djds Hkh vius ikl ugha j[k ldrkA fu;e dk mYya?ku djus ij vkosnd ds 

fo:) mfpr dk;Zokgh dh tk;sxh vkSj mldk vkosnu Hkh fujLr fd;k tk ldrk gSA  

(12)  mÙkj&i= ij dksbZ jQ dke ugha fd;k tkuk pkfg,A  

(13)  dksbZ Hkh mEehnokj ijh{kk iwjk gksus ls igys ijh{kk d{k ugha NksM+ ldrk gSA 

 

 

 

 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa 

 

vf/kdre vad % 100 

dqy ç'u         % 100  

fu/kkZfjr le; % 90 

 

Maximum Marks :
 100 

Total Questions :
 100 

Time Allowed :   90 Min. 

ijh{kkFkhZ dk uke :.............................................................. 

fnuk¡d :.................. ijh{kk dksM ........................................ 

vuqØekad :...................................................................... 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 

TEST FORM NUMBER 
  

  

Time Allowed :   90 Min. 
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General Awareness 

Q.1  निम्ननिखित में से भीतरी ग्रह का प्रनतनिनित्व कौि करता है? 

 (A) सूर्य व छुद्र ग्रह ों की पट्टी के बीच पाए जािे वािे ग्रह  

 (B) पृथ्वी व सूर्य के बीच पाए जािे वािे ग्रह  

 (C) नबिा उपग्रह वािे ग्रह  

 (D) वे ग्रह ज  गैसीर् है।  

 

Q.2  नवश्व मािवानिकार निवस कब मिार्ा जाता है? 

 (A) 9 निसम्बर  (B) 10 निसम्बर   

 (C) 11 निसम्बर   (D) 14 निसम्बर  

 

Q.3  नवश्व व्यापार सोंगठि का मुख्यािर् -------में खथित है।   

 (A) वान ोंगटि  (B) पेररस  (C) नवएिा  (D) जेिेवा  

 

Q.4 भारत में, आर्कर नकसके द्वारा िगार्ा जाता है? 

 (A) कें द्र सरकार   (B) राज्य सरकार  

 (C) नवत्त मोंत्रािर्   (D) आरबीआई  

 

Q.5  अोंतरायष्ट्र ीर् नवत्त निगम ------- में थिानपत नकर्ा गर्ा िा। 

 (A) 1956  (B) 1960  (C) 1972  (D) 1985  

 

Q.6  1969 में जब बैंक  का राष्ट्र ीर्करण हुआ िा, तब भारत का प्रिािमोंत्री 

कौििा/िी? 

 (A)  म रारजी िेसाई  (B) िाि बहािुर  ास्त्री   

 (C)  जवाहर िाि िेहरू  (D) इोंनिरा गाोंिी  

 

Q.7  जब वर्ाय जि का pH माि 5.6 से िीचे ह ता है त  र्ह ------- है।  

 (A) अम्लीर्   (B) क्षारीर्  

 (C) तटथि   (D) इिमें से क ई िही ों  

 

Q.8 नववेकािन्द रॉक मेम ररर्ि कहााँ खथित है? 

 (A) नतरूविन्तपुरम  (B) कन्याकुमारी  

 (C) िागरक इि   (D) भुविेश्वर  

 

Q.9  प्राियिा समाज के सोंथिापक कौि िे? 

 (A)  राजा रामम हि रार्  (B) आत्माराम पाोंडुरोंग  

 (C)  िर्ािोंि सरस्वती  (D) जर्प्रका  िारार्ण  

 

Q.10  न वराम वन्यजीव अभ्यारण -------में खथित है।  

 (A)  किायटक  (B) तेिोंगािा (C) तनमििाडु (D) केरि  

 

Q.11  जापाि की मुद्रा ------- है  

 (A) ररर्ाि  (B) रु्आि  (C) रे्ि  (D) रूनपर्ा  

 

Q.12 ‘टर ाइटि‘ नकस ग्रह का सबसे बड़ा चोंद्रमा है? 

 (A) रू्रेिस  (B) बृहस्पनत  (C) िेप्च्यूि  (D)  नि  

 

Q.13  निम्ननिखित में से कौि सी तरोंग  क  नसस्म ग्राफ़ द्वारा पहिे िजय नकर्ा 

जाता है? 

 (A) पी-तरोंग (B) एस-तरोंग (C) एि-तरोंग (D) आर-तरोंग 

 

Q.14  निम्न गैस ों में से कौि, प्लाखिक के निमायण में उपर् ग की जाती है? 

 (A) मीिेि  (B) हीनिर्म  (C) इनििीि  (D) बू्यटेि  

 
 

Q.15  कैमरा एक ऑनिकि उपकरण है ज  -------का प्रर् ग करता है।  

 (A) उत्ति िेंस   (B) अवति िेंस  

 (C) बेििाकर िेंस  (D) इिमें से क ई िही ों  

 

Q.16  भारतीर् रेिवे के जिक के रूप में कौि जािा जाता है? 

 (A) िॉडय कैनिोंग   (B) िॉडय ररपि  

 (C) िॉडय कजयि   (D) िॉडय डिहौजी  

 

Q.17  सड़क पररवहि और राजमागय के िए कें द्रीर् मोंत्री कौि है? 

 (A) निनति गडकारी (B) रानजोंिर पाि नसोंह  

 (C)  तुर्ार ए. चौिरी (D) सवे सत्यिारार्ण  

 

Q.18   िागािैंड की न्यानर्क राजिािी क्या है?  

 (A) निसपुर (B) नसिचर (C) गुवाहाटी (D) नडबू्रगढ़ 

 

Q.19  भारतीर् रेिवे का पनहर्ा और िुरा सोंर्ोंत्र कहााँ खथित है? 

 (A) बैंगिौर  (B) नचत्तरोंजि  (C) छपरा  (D) मिेपुरा  

 

Q.20  भारत की पहिी मेटर   रेि कहााँ  ुरू की गई िी? 

 (A) मुोंबई  (B) क िकाता   (C) बोंगिौर  (D) पुणे  

 

Q.21 भारत में नकस सूफी नसिनसिे क  सवायनिक ि कनप्रर्ता नमिी? 

 (A) नचश्ती  (B) सुहराविी  (C) नफरिौसी  (D) िक्शबोंिी  

 

Q.22  निम्ननिखित में से कौि सा, आरबीआई द्वारा बाजार में मुद्रा पूनतय क  

निर्खित करिे वािा मौनद्रक िीनत का एक सािि िही ों है? 

 (A) सीआरआर   (B) एसएिआर  

 (C) रेप  रेट   (D) उपर क्त में से क ई िही ों 

 

Q.23  निम्ननिखित का नमिाि कररए तिा सही नवकल्प चुनिए। 

 राज्य                      लोक नृत्य 

 (a) आन्ध्र प्रिे         1. िुम्हि 

 (b) छत्तीसगढ़          2. क िाट्टम 

 (c) कश्मीर             3. कािबेनिर्ा 

 (d) राजथिाि           4. पन्थी 

 (A) 1c, 2a, 3d, 4b   (B) 1d, 2b, 3c, 4a  
 (C) 1b, 2d, 3a, 4c  (D) 1c, 2b, 3d, 4a  

 

Q.24  निम्ननिखित में से नकसका मकबरा भारत के बाहर खथित है? 

 (A) हुमारु्ाँ  (B) औरगोंजेब 

  (C) जहााँिार  ाह  (D) जहााँगीर 

 

Q.25 कौि सी िवा िार्राइड हामोि के रूप में प्रर् ग की जाती है? 

 (A) मेटफ़ॉनमयि  (B) कीट क िैज ि 

 (C) प्र नमिाजीि  (D) िीव िार्रॉखिि 

 

Q.26  नकम्बरिे प्र सेस सनटयनफके ि स्कीम (KPCS) के सोंथिापक सिस्य कौि 

हैं? 

 (A) सोंरु्क्त राज्य अमेररका (B) इटिी 

 (C) ऑिर ेनिर्ा  (D) भारत 

 

Q.27  भारत का पहिा नहोंिी अिबार कौि सा है? 

 (A) उड़ाि  (B) आजाि नवचार 

 (C) उिन्त मातयण्ड  (D) नवचार व्यखक्त 

 

Q.28  नकस सोंसिीर् प्रनकर्ा में सभी माोंग ों क  ज  निर्त नतनि तक ि निपटार्ी 

गई ह  नबिा चचाय के ही मतिाि के निए रिा जाता है उसे इस प्रकार 

जािा जाता है? 

 (A)  नगि नटि   (B) निन्दा प्रस्ताव  

 (C)  अनवश्वास प्रस्ताव  (D) नव ेर्ानिकार प्रस्ताव  

 

Q.29   बू्ल क्रॉस नकस िेि से सोंबोंनित है? 

 (A) मुके्कबाजी (B) िोंबी कूि (C)  ूनटोंग (D) मा यि आटय 

 

Q.30  डीएिए का पूणय रूप है……………. 

 (A) डाई नू्यखिकअम्ल  

 (B) डी ओिी नू्यखिक अम्ल 

 (C) डाई ररब नू्यखिक अम्ल  

  (D) डी आिी ररब नू्यखिक अम्ल 

 

Q.31  हाि ही में किायटक में NH पररर् जिाओों के निए आिारन िा नकसिे 

रिी? 

 (A) िरेंद्र म िी  (B) राजिाि नसोंह 
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 (C) प्रका  जावड़ेकर (D) निनति गडकरी 

 

Q.32  िुनिर्ा में प्रचनित ई -गविेंस मॉडि पर राज्य के ि ग ों क  जागरूक 

करिे के निए एि निर्ाई अकािमी के साि नकसिे समझौता ज्ञापि पर 

हस्ताक्षर नकसिे नकर्ा है?  

 (A) असम (B) तेिोंगािा (C) ओनड ा (D) िागािैंड 

 

Q.33  मेघािर् के राज्यपाि के रूप में नकसे निरु्क्त नकर्ा गर्ा है? 

 (A) गोंगा प्रसाि   (B) बिवारी िाि पुर नहत  

 (C) तिागत रॉर्   (D) के री िाि नत्रपाठी  

 

Q.34  भारतीर् प्रनतभूनत और नवनिमर् ब डय (SEBI) के पूवय चेर्रमैि का िाम 

बताइए, नजन्हें 2018 के जीफाइल्स गविेंस अवाडडयस में सम्माि निर्ा 

गर्ा िा?  

 (A) रू्.के. नसन्हा  (B) डी.आर. मेहता 

 (C) सी.बी.भावे  (D) एम.िाम िरि 

 

Q.35  ‘अिाि तस्करी’ क  आिुनिक गुिामी के रूप में मान्यता िेिे वािा नवश्व 

का पहिा कौि सा िे  बि गर्ा? 

 (A) ऑिर ेनिर्ा (B) भारत (C) डेिमाकय   (D) आइसिैंड 

 

Q.36 िाफ्टा के सिस्य िे  ों के िाम बताइए? 

 (A) रू्एसए, मेखिक  और किाडा (B) रू्एसए, भारत और चीि 

 (C) रू्एसए, इटिी और किाडा (D) भारत, चीि और जापाि 

 

Q.37  ूनटोंग के िेि में नकसके र् गिाि के निए अोंतरायष्ट्र ीर्  ूनटोंग स्प टय 

फेडरे ि (ISSF) द्वारा बू्ल क्रॉस से सम्मानित ह िे वािे पहिे भारतीर् 

कौि बिे? 

 (A) जीतू रार्  (B) अनभिव नबोंद्रा 

 (C) राज्यवियि नसोंह राठौर (D) गगि िारोंग 

 

Q.38  भारत के चर्नित राष्ट्र पनतर् ों का कौि सा क्रम सही है? 

 (1) श्री.एि.सोंजीव रेड्डी  (2) श्री. वी. वी. नगरर  

 (3) डॉ.फिरूद्दीि अिी अहमि  (4) डॉ. जानकर हुसैि  

 (A) 1,2,3,4  (B) 4,2,3,1   (C) 4,2,1,3  (D) 3,1,4,2  
 

Q.39  नकसिे एिसीडी प्र जेक्टर का आनवष्कार नकर्ा? 

 (A) जीि ड ल्ग फ  (B) ब्रेंडि इच 

 (C) डगिस एों जेिबटय (D) फेडेररक  फखिि 

 

Q.40  अोंतरायष्ट्र ीर् नकम्बरिे प्रनक्रर्ा का अगिा सत्र कहााँ आर् नजत नकर्ा 

जाएगा? 

 (A) सोंरु्क्त राज्य अमेररका (C) इटिी 

 (B) ऑिर ेनिर्ा  (D) भारत 

Mathematics 

Q.41 ;fn ,d lekUrj Js.kh dk igyk in 21 gS rFkk nks Øekxr inksa ds chp 

vUrj -4 gS rks 12ok¡ in Kkr dhft, \ 

 (A) -25  (B) -26  
 (C) -21  (D) buesa ls dksbZ ughA  

 
Q.42 ,d prqHkqtZr ds pkj dks.kksa 4:5:7:8 gS rks nwljs lcls cM+s rFkk lcls 

NksVs dks.k ds chp D;k vUrj gS\ 

 (A) 480  (B) 450 
 (C) 300  (D) buesa ls dksbZ ughA 

 
Q.43 ;fn P:Q = 1:2, Q:R = 3:4, R:S = 6:9 vkSj S:T = 12:16 rks 

P:Q:R:S:T dk eku Kkr dhft,\  

 (A) 4:6:9:12:15  (B) 2:3:6:8:12  
 (C) 3:6:8:12:16  (D) buesa ls dksbZ ughA 

 
Q.44 ,d ijh{kk esa 43% fo|kFkhZ bfrgkl esa 24% fo|kFkhZ Hkwxksy esa rFkk 

13% fo|kFkhZ nksuks fo’k;ksa esa vuqRrh.kZ gksrsa gSa rks nksuksa fo’k;ksa esa 

fdrus % fo|kkFkhZ mRrh.kZ gksrs gSa\ 

 (A) 54%  (B) 48% 
 (C) 52%   (D) buesa ls dksbZ ughA 

 

Q.45 A ` 4000 ds lkFk ,d O;kikj çkjEHk djrk gS] B rhu eghus ckn 

` 8000 ds lkFk O;kikj esa “kkfey gksrk gS] C ` 18000 ds lkFk O;kikj 

esa dsoy 3 eghusa ds fy, “kkfey gksrk gS] o’kZ ds vUr esa O;kikj esa 

dqy ykHk  ` 6293 dk gksrk gS] rks C ds ykHk dk fgLlk Kkr dhft,\ 

 (A) ` 1736  (B) ` 2387  

 (C) ` 1963  (D) buesa ls dksbZ ughA 

 

fn”kk funsZ”k Q.(46-49) fuEufyf[kr ckj xzkQ dks /;kuiwoZd i<+dj uhps fn;s 

iz”uksa ds mRRkj nhft,\ 

 ckj xzkQ nks LVksj P vkSj L }kjk N% eghuksa esa csph x;h Vksfi;ksa dh 

la[;k dks çnf”kZr djrk gSA 

  

Q.46 ebZ esa nksuks LVksjksa }kjk csph x;h dqy Vksfi;ksa dh la[;k] ekpZ esa nksuks 

 LVksjksa }kjk csph x;h dqy Vksfi;ksa dh la[;k ls yxHkx fdrus çfr”kr 

 vf/kd gS\ 

 (A) 24% (B) 22%       (C) 20% (D) 26% 
 
Q.47 lHkh fn;s eghuksa esa LVksj ‘P’ }kjk csph x;h Vksfi;ksa dh vkSlr la[;k D;k 

gS\ 

 (A) 666.66̅ (B) 599.33̅        (C) 633.33̅ (D) 683.33̅ 
 
Q.48 LVksj ‘P’ }kjk Qjojh vkSj vçSy esa csph x;h dqy Vksfi;ksa dh la[;k] rFkk 

LVksj ‘L’ }kjk twu vkSj tuijh esa csph x;h dqy Vksfi;ksa dh la[;k ds 

chp D;k vuqikr gS \  

 (A) 6:7                (B) 11:14               
 (C) 25:28               (D) buesa ls dksbZ ugh  

 
Q.49 dEiuh ‘L’ }kjk lHkh fn;s eghuksa esa csph x;h dqy Vksfi;ksa dh dqy la[;k 

rFkk dEiuh ‘P’ }kjk lHkh fn;s eghuksa esa csph x;h dqy Vksfi;ksa dh dqy 

la[;k ds chp D;k varj gS\ 

 (A) 150  (B) 50                
  (C) buesa ls dksbZ ugh (D) 200 

 
Q.50 ,d yM+dk 6 fdeh-@?kaVk dh pky ls Ldwy dks tkrk gS vkSj 4 

fdeh@?kaVk dh pky ls xk¡o dks okil vkrk gS] ;fn mls bu lc esa dqy 

15 ?k.Vs dk le; yxrk gS] rks Ldwy RkFkk xk¡o ds chp nwjh D;k gS\ 

 (A) 36 fdeh-  (B) 24 fdeh- 

  (C) buesa ls dksbZ ugh (D) 30 fdeh- 

 
Q.51 ,d vkneh dks /kkjk dh fn”kk esa 36 fdeh- rFkk /kkjk dh foijhr fn”kk esa 

24 fdeh- r; djus esa çR;sd esa 4 ?k.Vs dk le; yxrk gS rks /kkjk dh 

pky Kkr dhft,\ 

 (A) 2 fdeh-@?kaVk  (B) 1.5 fdeh-@?kaVk       

 (C) 3 fdeh-@?kaVk  (D) buesa ls dksbZ ugh 

 
Q.52 28 lseh- O;kl okys xksys dk lrg {ks=Qy Kkr dhft,\  

 (A) 2474 lseh-
2   (B) 2532lseh-

2             

 (C) 2396 lseh-
2  (D) buesa ls dksbZ ugh 

 
Q.53 ,d vkneh ,d dk;Z dks vdsys 12 fnuksa esa dj ldrk gS] ,d yM+ds dh 

lgk;rk ls og mlh dk;Z dks 9 fnuksa esa dj ldrk gS ;fn os ml dk;Z 

ds fy, ` 1244 çkIr djrs gSa rks yM+ds dk fgLlk D;k gSA 

  
 (A) ` 411  (B) ` 423  

 (C) ` 396  (D) buesa ls dksbZ ugh 

 
Q.54 ` 4.10 çfr fdxzk- okyh phuh dks ` 4.60 çfr fdxzk- okyh phuh ds 

lkFk fdl vuqikr esa feyk;k tk, ftlls feJ.k dk ewY; ` 4.25 çfr 

fdxzk- gks tk,\ 

 (A) 7:4  (B) 6:5 
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 (C) buesa ls dksbZ ugh (D) 8:3 

 
Q.55 ` 16750 ij 2 o’kksZa esa pØof̀) C;kt Kkr dhft,\ ;fn igys o’kZ ds 

fy, C;kt dh nj 4% rFkk nwljs o’kZ ds fy, C;kt dh nj 8% gS\ 

 (A) ` 2063.60   (B) ` 2084.8  

 (C) ` 2116.4   (D) buesa ls dksbZ ugh 

 
Q.56 ,d foØsrk vius lkeku dk vafdr ewY; Ø; ewY; ls  24% vf/kd 

vafdr djrk gS] vkSj [kjhnkjksa dks uxn ds fy, 11.5% dh NwV çnku 

djrk gS rks mldk ykHk % Kkr dhft, \ 

 (A) 9.75%  (B) 9.84%  
 (C) 8.98%  (D) buesa ls dksbZ ugh 

 

Q.57 ;fn tan2 - Sin2 = P rks P dk eku Kkr dhft,\  

 (A) Sin.tan  (B) Sin2.tan2 

 (C) cosec2 cot2 (D) cot cosec 
 
Q.58 cot 2100 

dk eku D;k gS? 

 (A) √3 (B) √3
−

 (C) 
−1

√3 
   (D) 

1

√3
 

Q.59 ;fn √
1+cos 

2
 = rks Y dk eku Kkr dhft, ? 

 (A) 1  (B) cos  

 (C) sin


2
  (D) buesa ls dksbZ ugh 

 

Q.60 ;fn x = 
𝑦2

𝑦−𝑥
   rks x3+y3 dk eku Kkr dhft,\ 

 (A) 1  (B) xy  
 (C) o   (D) buesa ls dksbZ ugh 

 

Q.61 ;fn  a = √2 + √3
3

  rks a3+ 1/a3 dk eku Kkr dhft,\ 

 (A) 1  (B) 4  
 (C) 2   (D) buesa ls dksbZ ugh 

 

Q.62 ;fn  
𝑙

𝑚
  = 

1

𝑚
 - 

1

𝑙
  rks l – l2 dk eku Kkr dhft,? 

 (A) 
1

𝑚
 (B)  

−1

𝑚
 (C) m (D) -m  

 
Q.63 X dk eku Kkr dhft,\ 11339 ÷ 23 + 11 × 27 - 172 – 377 ÷ 

 13 = x 
 (A) 485    (B) 472  
 (C) 465    (D) buesa ls dksbZ ugh 

 

Q.64 
(𝟑𝟒𝟑)𝒂/𝟑 × 𝟕𝟐𝒂+𝟏

𝟒𝟗(𝒂−𝟏) × 𝟕𝒂  = ? 

 (A) 343a  (B) 49  
 (C) 49(a+1)  (D) buesa ls dksbZ ugh 

 
Q.65 (16)0.16 × (16)0.04 ×(2)0.2 dk eku gS :- 

 (A) 4  (B) 1/2  
 (C) buesa ls dksbZ ugh (D) 8 

 

Q.66 tc (1-
1

3
) (1 −

1

4
) (1 −

1

5
) − − − (1 −

1

𝑡
) dks ljy fd;k tkrk 

 gS rks bldk eku gSA 

 (A) 
2

𝑡
  (B) 

1

𝑡
  

 (C) buesa ls dksbZ ugh (D) 
1

𝑡(𝑡+1)
 

 
Q.67 og NksVh ls NksVh la[;k tks 5000 ls cM+h gS rFkk  73 ls foHkkT; gSA 

 (A) 5110  (B) 5047  
 (C) 5057  (D) buesa ls dksbZ ugh 

 
 
Q.68 js[kk 3x+4y-16=0 dh ço.krk D;k gS? 

 (A) 
−1

4
  (B) −3

4⁄   

 (C) buesa ls dksbZ ugh (D) 
3

4
 

 
Q.69 ,d fu;fer cgqHkqt dh Hkqtkvksa dh la[;k Kkr dhft,\ ftldk çR;sd 

vkUrfjd dks.k 1500 
gS\ 

 (A) 10 (B) 15 (C) 12 (D) 9 
 

Q.70 ,d f[kykSus ds ifg;s dk O;kl  28 lseh- gS rks 14 pDdjksa esa ifg;s ds 

 }kjk r; dh xbZ nwjh D;k gS\  

 (A) 12.32 ehVj  (B) 1248 lseh-  

 (C) buesa ls dksbZ ugh (D) 11.98 eh- 

General Intelligence and Reasoning 

fn”kk funsZ”k Q.(71-74) fn, x, funsZ”kkssa dks /;kuiwoZd i<+s vkSj iwNs iz”uksa ds mRrj 

nsa \  

 “P ÷ Q” dk vFkZ “P, Q dh iRuh gSA” 

 “P - Q” dk vFkZ “P, Q dk ifr gSA” 

 “P @ Q” dk vFkZ “P, Q dh cgu gSA” 

 “P % Q” dk vFkZ “P, Q dh Ekk¡ gSA” 

 “P * Q” dk vFkZ “P, Q dk firk gSA” 

 “P + Q” dk vFkZ “P, Q dk csVk gSA” 

 “P © Q” dk vFkZ “P, Q dh csVh gSA”  

 “P $ Q” dk vFkZ “P, Q dk HkkbZ gSA” 

 

Q.71 K-L%O$P, T@R+M÷Q=U-V, S-G%K$L@M  

 G, P ls dSls lacaf/kr gS \ 

 (A) ek¡  (B) csVh              

 (C) cgw  (D) buesa ls dksbZ ugh 

 

Q.72 T@R+M÷Q=U-V, S-G%K$L@M, K-L%O$P 

 G, Q ls dSls lacaf/kr gS \ 

 (A) ek¡ (B) lkl           (C) csVh (D) cgw         

 

Q.73 I+H*L%N © Y, X ÷ D*F@G ÷ H+J-K 

 H, X ls dSls lacaf/kr gS \ 

 (A) iksrk   

 (B) ukrh  

 (C) nkekn   

 (D) fu/kkZfjr ugha fd;k tk ldrkA     

 

Q.74 I+H*L%N © Y, X ÷ D*F@G ÷ H+J-K  
 G, L ls dSls lacaf/kr gS \  

 (A) iksrh           (B) ukfru (C) lkl (D) ek¡  

 

fn”kk funsZ”k Q.(75-76) fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u dhft, vkSj 

 uhps fn, x, iz”uksa ds mRRkj nhft,& 

 B © 5 L 8 M S # 9 @ 2 $ Y © R ^ P * W % X 5 N J S1 C 

 6 ^ Z 8 E 9 G 7 H 

 

Q.75 mijksDr O;oLFkk esa ,sls fdrus izrhd gSa ftlds Bhd igys la[;k vkSj 

ckn esa v{kj gS\ 

 (A) dksbZ ugha (B) nks (C) rhu (D) ,d   

 

Q.76 mijksDr O;oLFkk esa “*” dh fLFkfr D;k gSa\ 

 (A) nk,a var ls 17ok¡ (B) ck,a var ls 15 ok¡    

 (C) N ds ck,a ls 7 ok¡ (D) Y ds nk,a ls 5 ok¡ 

 

fn”kk funsZ”k Q.(77-79) nh x;h tkudkjh dks /;kuiwoZd i<+s vkSj fuEufyf[kr 

iz”uksa ds mRrj nsa& 

 Ng O;fDr f”koe] fryd] mftZr] foosd okfgn vkSj dju bu lHkh dks 

,d ijh{kk esa fHkUu vad izkIr gq, gSA f”koe dks flQZ mftZr vkSj dju ls 

T;knk vad izkIr gq, gSA fryd dks okfgn ls de vad feysA okfgn dks 

lcls T;knk vad ugha ugha feys gSA ftls nwljs lcls vf/kd vad izkIr 

gq, mlds 95 vad gSA 

 

Q.77 fdrus O;fDr dks mftZr ls T;knk vad izkIr gq, gS \ 

 (A) rhu  (B) nks          

 (C) rhu ls T;knk  (D) buesa ls dksbZ ugha  
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Q.78 ;fn fryd dks 80 vad fey x, fodYi ls f”koe dk laHkor% fdrus vad 

feys\  

 (A) 96  (B) 90            (C) 85  (D) 76 

 

Q.79 lcls de vad fdls feys \ 

 (A) okfgn  (B) f”koe   

 (C) dju  (D) fudky ugha ldrsA 

 

fn”kk funsZ”k Q.(80-81) िीचे िी गई निम्न जािकारी का अध्यर्ि करें  और उस पर 

आिाररत प्रश्न का उत्तर िें। 

 (A) किि I में डेटा प्रश्न का उत्तर िेिे के निए पर्ायप्त है जबनक किि II में 

डेटा प्रश्न का उत्तर िेिे की आवश्यकता िही ों है। 

 (B) डेटा िेटमेंट II प्रश्न का उत्तर िेिे के निए पर्ायप्त है जबनक किि I मे 

डेटा प्रश्न का उत्तर िेिे की आवश्यकता िही ों है। 

 (C) I और II ि ि ों किि ों में डेटा प्रश्न का उत्तर िेिे के निए आवश्यक है। 

 (D) डेटा ि त  किि I और ि ही II प्रश्न का उत्तर िेिे के निए पर्ायप्त हैं 

 

Q.80 छह ि स्त प्रतीक, कान फ, रनव, न वम, तरुण और उमोंग अिगअिग 

ऊों चाइर् ों पर हैं। निम्ननिखित में से कौि सबसे िोंबा व्यखक्त है। 

 (I) स हेि, प्रतीक से िोंबा है िेनकि उमोंग से छ टा है। तरुण कान फ से िोंबा 

है िेनकि सबसे िोंबा िही ों है। 

 (II) स हेि केवि प्रतीक से िोंबा है। कान फ उमोंग और स हेि से िोंबा है 

िेनकि सबसे िोंबा िही ों है। 

 

Q.81  कुि 15 छात्र ों क  ऊपर से िीचे तक रैंक नमिी। सबसे ऊपर ज  रैंक प्राप्त 

नकर्ा वह  ीर्य पर है और 15 वी ों रैंक पािे वािा सबसे ऊपर है ति। ऊपर 

से कनवता की रैंक क्या है? ति। ऊपर से कनवता की रैंक क्या है? 

 (I) मािव  ीर्य से 8 वें थिाि पर है और तीि व्यखक्त मािव और कनवता के 

बीच हैं। कनवता से कम से कम 5 ि ग ों क  बितर रैंक नमिी। 

 (II) गीता का रैंक िीचे से तीसरा है। चार व्यखक्त गीता के बीच हैं। और मािव 

तीि व्यखक्त मािव और कनवता के बीच हैं। 

 

fn”kk funsZ”k Q.(82-83) fuEufyf[kr iz”uksa esa fn, x, dFkuksa esa fofHkUUk rRoksa ds 

chp ,d laca/k fn[kk;k x;k gSA bu dFkuksa ds ckn pkj fu’d’kZ fn, x, 

gSA vkidks ;g r; djuk gksxk fd dkSu lk fu’d’kZ fuf”pr :i ls dFku 

dk vuqdj.k djrk gSA  

 (A) केवि निष्कर्य I अिुसरण करता है                 

 (B) केवि निष्कर्य II अिुसरण करता है 

 (C) ि ि ों निष्कर्य का पािि करते हैं              

 (D) क ई भी अिुसरण िही ों करता है 

 

Q.82 dFku: H < F < A > B > C,        U < F > M > K  

 fu’d’kZ: (I) A > F  (II) F < C 

 

Q.83 dFku: H < F < A > B > C,       U < F > M > K  

 fu’d’kZ: (I) M < B  (II) K < C 

 

Q.84 nh xbZ vkdf̀r esa f=Hkqtksa dh la[;k Kkr djsa\ 

  

 (A) 38 (B) 39           (C) 44 (D) 46 

Q.85 fuEu iz'u esa fn, x, oSdfYid 'kCnksa esa ls ml 'kCn dks pqusa ftldk 

 fuEkkZ.k djds ugha fd;k tk ldrk gS \ 

 TRADITIONAL 

 (A) ADDITION (B) INDIA         (C) RATIO    (D) STRAIT 

 

fn”kk funsZ”k Q.(86-87) lgh fp= dk p;u djs tks fn;s x;s 'kCnksa dk lgh laca/k 

n'kkZrk gS \ 

 (A)        (B)            

 (C)     (D)  

 

Q.86 Diamond ring, ring, ornament 

 

Q.87  Nose, eye, body 

 

fn”kk funsZ”k Q.(88-91) uhps fn, x, iz’u esa dqN dFku vkSj muds ckn mu 

dFkuksa ij vk/kkfjr dqN fu"d"kZ fn, x, gSA gkyk¡fd muesa lkekU; Kkr 

rF;ksa lsa fHkUUkrk gks ldrh gSA lHkh fu"d"kZ i<+s fQj fu/kkZfjr djas fd fn, 

x, dkSu lsa fu"d"kZ] fn, x, dFkukssa ds v/kkj ij ;qfDrlax gSaA 

 (A) dsoy fu"d"kZ I lgh gSA   (B) dsoy fu"d"kZ II lgh gSA 

 (C) nksuks fu"d"kZ lgh gSA (D) nksuks fu"d"kZ xyr gSA 

 

Q.88 dFku:  lHkh P, S gSaA   lHkh Q, R gSaA   dqN P, Q gSaA  

 fu’d’kZ: (I) dqN P, R gSa ,d laHkkouk gS 

 (II)  dqN S, R ugha gSaA 

 

Q.89 dFku: dksbZ S, T ugha gSA  dksbZ  T, U ugha gSA   lHkh U, V gSaA 

 fu"d"kZ: (I) dqN V, T ugha gSa ,d laHkkouk gSA 

 (II) lHkh S, U gSa ,d laHkkouk gSA 

 

Q.90 dFku: dqN G, H gSaA  dqN H, I ugha gSaA  dksbZ I, J ugh gSA 

 fu"d"kZ: (I) dqN G, I ugha gSaA 

 (II) lHkh J, G gSa ,d laHkkouk gSaA 

 

Q.91 dFku: dqN K, L gSaA  dksbZ L, M ugha gSA  dksbZ M, N ugha gSA 

 fu"d"k Z: (I) dqN M, K ugha gSa ,d laHkkouk gSA 

 (II) 25% L, M ugh gSaA 
 

fn”kk funsZ”k Q.(92-94) निम्ननिखित जािकारी का ध्यािपूवयक अध्यर्ि करें  और 

िीचे निए गए प्रश्न ों के उत्तर िें : 
 एक निनित क ड भार्ा में ‘election survey people’  क   ‘fyo  fvo  fna’  
 के रूप में नििा जाता है। ‘biopic law member’ क  ‘fsa  fra  fta’   के 
 रूप में नििा जाता है, ‘people law lead’  क   ‘fla  fvo  fsa’   के रूप 

 में नििा जाता है, और ‘review nation election’  क  ‘fyo  fha  fja’  के रूप 

में नििा जाता है। 

 

Q.92 “Survey” dk dksM crk,a\  

 (A) fna  (B) fyo  

 (C) fvo  (D) fu/kkZfjr ugh fd;k tk ldrkA 

 

Q.93 “fra” ds fy, dksM crk,a\ 

 (A) Biopic  (B) Law  

 (C) Member  (D) fu/kkZfjr ugh fd;k tk ldrkA 

 

Q.94 “Lead election” ds fy, dksM crk,a\  

 (A) fla fna (B) fta fna  (C) fvo fla (D) fla fyo 

 

fn”kk funsZ”k Q.(95-96) निम्ननिखित जािकारी क  ध्यािपूवयक पनढ़ए और िीचे निए 

गए प्रश्न ों के उत्तर िीनजरे्—  

 नबोंिु R से, अजुयि उत्तर नि ा में चििा  ुरू करता है और 5 मीटर की िूरी 

तर् करता है नफर वह िार्ें मुड़ता है और 4 मीटर की िूरी तर् करता है और 

अोंत में वह बाएों  मुड़ता है और 5 मीटर की िूरी तर् करता है और नबोंिु Q पर 

पहुचता है. नबोंिु P से, पोंकज िनक्षण नि ा की ओर चििा  ुरू करता है और 
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10 मीटर की िूरी तर् करता है, नफर वह बाएों  मुड़ता है और 16 मीटर की 

िूरी तर् करता है और नबोंिु Q पर पहुचता है. 

 

Q.95 fcanq R ds lkis{k ls fcanq P fdl fn”kk esa gS\ 

 (A) nf{k.k iwoZ  (B) mRrj if”pe  

 (C) mRrj  (D) nf{k.k 

 

Q.96 fcanq P vkSj R ds chp dh U;wure nwjh crk,a\  

 (A) 5√37 (B) 25  (C) 4√34 (D) 38 

 

fn”kk funsZ”k Q.(97-98) fuEufyf[kr iz'uksa esa fn, x,] fo"ke'kCn@v{kj@la[;k 

 dks pqfu,A 

 

Q.97 (A) 483 (B) 609  (C) 576 (D) 548 

 

Q.98 (A) PLCV (B) DEMQ  (C) HGVF (D) JLTN 

 

fn”kk funsZ”k Q.(99-100)  fuEufyf[kr iz'uksa esa fn, x,] fodYiksa esa ls lEcfU/kr 

 'kCn@v{kj@la[;k dks pqfu,A 

 

Q.99 JHVC : 43 :: KTMQ : ? 

 (A) 58   (B) 65 (C) 68   (D) 61   

 

Q.100 29 : 435 :: 36 : ? 

 (A) 495 (B) 540 (C) 580  (D) 525 
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General Awareness 

Ans.1(A) इन नौ ग्रह ों में बुध,शुक्र,पृथ्वी व मोंगल भीतरी ग्रह कहलाते है, क् ोंकक ये 

 सूयय व छुद्रग्रह ों की पट्टी, के बीच स्थित है। अन्य पाोंच ग्रह बाहरी ग्रह 

 कहलाते है पहले चार ग्रह पाकियव ग्रह भी कहे जाते है। 

Ans.2(B) कवश्व मानवाकधकार किवस 10 किसम्बर क  मनाया जाता है।अोंतरायष्ट्र ीय 

 भ्रष्ट्ाचार कवर धी किवस -9 किसम्बर यूकनसेफ किवस-11 किसम्बर  

 राष्ट्र ीय ऊजाय सरोंक्षण किवस - 14 किसम्बर 

Ans.3(D) कवश्व व्यापार सोंगठन (डबू्ल्यटीओ)- अोंतरायष्ट्र ीय सोंगठन वैकश्वकयह  

 व्यापार के कनयम ों क  तय करता है। इस सोंगठन की थिापना सन् 

 1995 में हुई। इसका मुख्यालय जेनेवा में स्थित है। 

Ans.4(A) भारत में, आयकर कें द्र सरकार द्वारा लगाया जाता है। 

Ans.5(A) अोंतरायष्ट्र ीय कवत्त कनगम, कवश्व बैंक समूह का एक सिस्य है और 

 वाकशोंगटन डी .सी , सोंयुक्त राज्य अमेररका में इसका मुख्यालय है। यह 

 1956 में थिाकपत ककया गया िा। 

Ans.6(D) भारत में बैंक ों का राष्ट्र ीयकरण उस समय की प्रधानमोंत्री श्रीमती इों किरा 

 गाोंधी द्वारा 1969 में हुआ िा। उस समय 14 बैंक ों का राष्ट्र ीयकरण 

 ककया गया िा। यह अकधकतर व्यापाररय ों के स्वाकमत्व में िे और उनके 

 द्वारा ही प्रबोंकधत िे। 

Ans.7(A) वर्ाय जल का pH मान 5.6 से नीचे ह ता है तब यह अम्लीय ह ता है। 

Ans.8(B) कन्याकुमारी 

Ans.9(B) प्राियना समाज के सोंथिापक आत्माराम पाोंडुरोंग िे।  

 राजा रामम हन राय - ब्रह्मा समाज  

 ियानोंि सरस्वती - आयय समाज  

 जयप्रकाश नारायण - सवोिय आोंि लन 

Ans.10(B) कशवराम वन्यजीव अभयारण्य तेलोंगाना में स्थित है। 

Ans.11(C) जापान की मुद्रा येन है। 

Ans.12(C) ‘टर ाइटन‘ नेप्च्यून ग्रह का सबसे बड़ा चोंद्रमा है। 

Ans.13(A) 
Ans.14(C) इकिलीन गैस प्लास्िक के कनमायण में उपय ग की जाती है। 

Ans.15(A) कैमरा एक ऑकिकल उपकरण है ज  उत्तल लेंस का प्रय ग करता है। 

Ans.16(D) लॉडय डलहौजी क  भारतीय रेलवे के जनक के रूप में जाना जाता है। 

Ans.17(A) कनकतन गडकारी 

Ans.18(C) गुवाहाटी नागालैंड की न्याकयक राजधानी है। 

Ans.19(A) बैंगलौर 

Ans.20(B) क लकाता 

Ans.21(A) यह वह कसलकसला िा कजसने समानता और भाईचारे की भावना के 

 साि, उपमहाद्वीप के ल ग ों का किल जीत कलया िा। 

Ans.22(D) उपर क्त सभी आरबीआई द्वारा बाजार में मुद्रा पूकतय क  कनयोंकत्रत करने 

 वाले मौकद्रक नीकत के साधन है। 

Ans.23(A) 

Ans.24(D) हुमायूों का मकबरा किल्ली, भारत में मुगल सम्राट हुमायूों की कब्र है। 

 औरोंगजेब का मकबरा महाराष्ट्र  राज्य के औरोंगाबाि कजले में स्थित है। 

 जहााँिार शाह का मकबरा भी किल्ली, भारत में हुमायुाँ के मकबरे में 

 स्थित है। जहाोंगीर का मकबरा रावी निी के ककनारे लाहौर,पाककस्तान 

 में शाहिरा बाग में स्थित है। 

Ans.25(D) लीव िायरााँस्िन, कजसे एल-िायरॉस्िन के रूप में भी जाना जाता है, 

 िायराइड हामोन, िायरॉिीन का एक कनकमयत रूप है। इसका उपय ग 

 िाइरॉयड हामोन की कमी के इलाज के कलए ककया जाता है कजसमें 

 कमिीकडमा क मा के नाम से जाना जाने वाला गोंभीर रूप शाकमल है। 

 यह कुछ प्रकार के िायरॉयड टू्यमर के इलाज और र किाम के कलए 

 भी इसे्तमाल ककया जा सकता है। 

Ans.26(D) भारत 

Ans.27(C) उिन्त मातयण्ड कहोंिी का प्रिम समाचार पत्र िा। इसका प्रकाशन 30 

 मई, 1826,  ई. में कलकत्ता से एक साप्ताकहक पत्र के रूप में शुरू 

 हुआ िा। पों. जुगल ककश र शुक्ला इसका हर मोंगलवार क  प्रकाशन 

 करते िे। 

Ans.28(A) गुलेकटन वह सोंसिीय प्रकक्रया है कजसमें सभी माोंग ों क  ज  कनयत कतकि 

 तक न कनपटायी गई ह  कबना चचाय के ही मतिान के कलए रखा जाता है। 

Ans.29(C) बू्ल क्रॉस शूकटोंग से सोंबोंकधत है।  

Ans.30(D) डीऑिीररब नू्यस्क्लक अम्ल, स्वयों-प्रकतकृकत सामग्री ज  गुणसूत्र ों के 

 मुख्य घटक के रूप में लगभग सभी जीव ों में मौजूि है यह आनुवोंकशक 

 जानकारी का वाहक है। 

Ans.31(D) कनकतन गडकरी ने हाल ही में कनायटक में एनएच पररय जनाओों की 

 आधारकशला रखी। 

Ans.32(D) नागालैंड ने िुकनया में प्रचकलत ई-गवनेंस मॉडल पर राज्य के ल ग ों क  

 जागरूक करने के कलए एि कनयाई अकािमी के साि एक समझौता 

 ज्ञापन पर हस्ताक्षर ककए हैं। 

Ans.33(C) मेघालय के राज्यपाल तिागत रॉय है। 

Ans.34(B) डी.आर. मेहता कसक् ररटीज एों ड एिचेंज ब डय ऑफ इोंकडया )SEBI) 

 के पूवय चेयरमैन, कजन्हें 2018 जीफाईल्स गवनेंस अवाड्यस में सम्मान 

 किया गया िा। 

Ans.35(A) आधुकनक गुलामी के रूप में 'अनाि तस्करी' क  मान्यता िेने वाला 

 ऑिरेकलया िुकनया में पहला िेश बन गया है। 

Ans.36(A) सोंयुक्त राज्य अमेररका, मैस्िक  और कनाडा 

Ans.37(B) अकभनव कबोंद्रा पहले भारतीय बन गए कजन्हें शूकटोंग के खेल में उनके 

 य गिान के कलए अोंतरायष्ट्र ीय शूकटोंग स्प टय फेडरेशन )ISSF) द्वारा बू्ल 

 क्रॉस से सम्माकनत ककया गया। 

Ans.38(B) डा. जाककर हुसैन  

 श्री.वी.वी.कगरर  

 डा.फखरूद्दीन अली अहमि  

 श्री.एन.सोंजीवा रेड्डी 

Ans.39(A) ड ल्ग फ कडकजटल प्रके्षपण के एक प्रारों कभक डेवलपर िे और 1968 में 

 एलसीडी प्र जेक्टर के बारे में स चना शुरू कर किया। उन्ह ोंने 1988 में 

 िुकनया की पहली समकपयत कडकजटल प्रके्षपण कों पनी, प्र जेक्टाकवजन की 

 थिापना की। उन्ह ोंने 3-डी इमेकजोंग, ऑकिि, ह ल ग्राफी और एलसीड 

 वीकडय  प्र जेक्शन में कई पेपर प्रकाकशत ककए , और िुकनया भर में 65 

 से अकधक पेटेंट प्रिान ककए गए हैं कजनमें कई अन्य लोंकबत हैं। 

Ans.40(D) भारत 

Mathematics 

Ans.41(D) 12 ok¡ in= 21+11×-4=21-44=-23 

Ans.42(B)   vHkh’V vUrj = (7-4)×
360°

(4+5+7+8)
 

Ans.43(C) P:Q:R:S:T = 216:432:576:864:1152 

 = 3:6:8:12:16 

Ans.44(D)  

Ans.45(D)  muds ykHkksa dk vuqikr =A:B:C 

 = 4×12:  8×9 : 3×18 

 = 48: 72: 54 

 = 8 : 12:9 

 C ds ykHk dk fgLlk = 
6293

(8+12+9)
×9 

 = 117×9 =  ` 1953 

Ans.46(B) vHkh’V % = 
1650−1350

1350
 ×100 = 22.22% =22% 

Ans.47(C) vHkh’V vkSlr = 
(550+450+600+700+850+650

6
 

 = 
3800

6
 = 633.33 

Ans.48(D) vHkh’V vuqikr = 
(450+700)

(650+750)
 = 

1150

1400
 = 

23

28
 

Ans.49(C) vHkh’V vUrj = L – P 

 = 3900 – 3800 = 100 

Ans.50(A) vHkh’V nwjh = 15 × 
6×4

10
 = 36 fdeh- 

Ans.51(B) /kkjk dh fn”kk esa pky  = 
34

4
 = 9 fdeh-@?kaVk 

 /kkjk dh foijhr fn”kk esa pky  = 
24

4
 = 6 fdeh-@?kaVk 

 /kkjk dh pky = 
9−6

2
 = 

3

2
 = 1.5 fdeh-@?kaVk 

Ans.52(D) lrg {ks=Qy = 4r2 =4× 
22

7
×

28

2
×

28

2
 = 2464 lseh-2 

Ans.53(D) yM+dk [
12×9

12−9
] = 36 fnu esa dk;Z iw.kZ dj ldrk Gsa 

 vkneh : yM+dk = 
1

12
 : 

1

36
 = 3:1  

 yM+ds dk fgLlk = 
1244

4
 ×1 = ` 311 

Ans.54(C) 

   

 vHkh’V vuqikr = 
7

3
 = 7:3 

Ans.55(A) pØof̀) C;kt = 16750 × 
104

100
 × 

108

100
 – 16750 

 =  ` 2063.6 

Ans.56(D) ykHk % = 24 – 11.5 - 
24×11.5

100
 = 9.74% 
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Ans.57(B) 
𝑠𝑖𝑛2𝜃

𝑐𝑜𝑠2𝜃
 – sin2𝜃 =P 

 sin2𝜃 (
1

𝑐𝑜𝑠2𝜃
− 1) = 𝑃 

 sin2𝜃. (𝑠𝑒𝑐2𝜃 − 1) =P 

 P = sin2𝜃  𝑡𝑎𝑛2𝜃 
Ans.58(A) cot 210° = cot(180+30°) 

 = cot30° = √3 

Ans.59(D) ∴ cos 𝜃 = 2 𝑐𝑜𝑠2 (
𝜃

2
) -1 

 ∴ 𝑦 =  √1+2𝑐𝑜𝑠2 (
𝜃

2
)−1

2
 

  y = 𝑐𝑜𝑠𝜃/2 
Ans.60(C) xy – x2 = y2 
 X2 + y2 – xy = 0 
 X3 + y3 = (x+y) (x2 +y2 – xy) 
 X3 + y3 = (x+y) × 0 
 X3 + y3 = 0 

Ans.61(B) a3 = (2+√3)  

 
1

𝑎3
 = 

1

2+√3
 × 

2−√3

(2−√3)
 = 2 - √3  

 ∴ a3 + 1/a3 = 2 + √3 +2 -√3 = 4 

Ans.62(C) 
𝑙

𝑚
 - 

1

𝑚
=  

−1

𝑙
 

 
(𝑙−1)

𝑚
 = 

−1

𝑙
  

 l2 – l = - m 
  l – l2 = m 
Ans.63(B) 493 + 297 – 289 – 29 = x 
 X = 472 

Ans.64(D) 
7(3×𝑎/3)× 72𝑎+1

7(2𝑎−2)×7𝑎  = ? 

 
𝟕(𝒂+𝟐𝒂+𝟏)

𝟕(𝟐𝒂+𝒂−𝟐) = ? 

 7(3𝑎+1−3𝑎+2) = ? 

 73 = ? ⇒ ? = 343 
Ans.65(C) (24) 0.16 × (24) 0.04 × (2) 0.2 
 2 0.64 × 2 0.16 × 2 0.2 
 2 (0.64+0.16+0.2) 
 21 = 2 

Ans.66(A)  (1- -
1

3
) (1- -

1

4
) (1- -

1

5
) ---- (1- -

1

(𝑡−1)
) (1- -

1

𝑡
) 

  
2

3
 × 

3

4
 × 

4

5
 ---- -

𝑡−2

𝑡−1
 × 

𝑡−1

𝑡
 = 

2

𝑡
  

Ans.67(D) 73) 5000 (68 
        438  
          620 
          584  
            36 
 vHkh’V la[;k = 5000 + 73 - 36 = 5037 

Ans.68(B) ço.krk = 
−3

  4
 

Ans.69(C) 180° × (
𝑛−2

𝑛
) = 150° 

 6n – 12 = 5n 
 N = 12 

Ans.70(A) ifg;s dh ifjf/k=^̅𝐷 =
22

7
× 28 = 88lseh- 

 dqy r; dh xbZ nwjh = 88 × 14= 1232 lseh-   

General Intelligence and Reasoning 

Ans.(71-72) 

  
Ans.71(D)  
Ans.72(B) 
Ans.(73-74) 

  
 

Ans.73(C) 
Ans.74(D)   
Ans.75(B)  
Ans.76(D) 
Ans.(77-79) foosd>okfgn>fryd>f”koe>ÅftZr/dju>dju/ÅftZr 

Ans.77(C) 
Ans.78(D)  
Ans.79(D)  
Ans.80(C)  
Ans.81(A) 
Ans.82(A)  
Ans.83(D)  
Ans.84(C) 
Ans.85(D) fn, “kCn esa “S” ugh gSA 

Ans.86(B) 
Ans.87(B)  
Ans.88(D) 

  
Ans.89(B) 

  
Ans.90(B) 

  
Ans.91(B) 

  
Ans.(92-94) 

  
Ans.92(A)  
Ans.93(D)  
Ans.94(D) 
Ans.(95-96) 

  
  
Ans.95(B)  
Ans.96(C)   
Ans.97(D) “D” dks NksM+dj lHkh 21 ls Hkkftr gSaA 

Ans.98(B) flQZ “B” esa Loj gSA  

Ans.99(D)  
Ans.100(B) 29 × 15 = 435 
 36 × 15 = 540  
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